New Maths GCSE: G18 - Sectors and arcs of Circles
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Which of the following
would correctly work
out the arc length of
this sector of a circle?

B 360X11:x6

70
360X71'X12+12

Which of the following
would correctly work
out the perimeter of
this sector of a circle?
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out the arc length of
this sector of a circle?
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Which of the following
would correctly work
out the area of this
sector of a circle?
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Which of the following
would correctly work
out the perimeter of
this sector of a circle?
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The area of this sector
of a circle is 10cm?,

Which of the following
would correctly work
out the radius?
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The arc length of this
sector of a circle is 25cm.

Which of the following
would correctly work out
the radius?
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